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. (Roe) R7) AR T OBEAGEE || A D BEAGHE (| EAK D AR || BEAK D AGE | A L A || MAK D BASE | MAK D BALHE
HH A 320 0 400 128,000 0 400 128,000 0 400 128,000] 1,200 384,000
A EY 320 350 112,000 0 400 128,000 0 400 128,000 400 128,000 1,550 496,000
eSS 350 300 105,000 0 0 0 0 0 300 105,000
RSAHL — 18/48 320 0 400 128,000 400 128,000 0 400 128,000 400 128,000] 1,600 512,000
1| & |[7A7r{ck FXoTAA < 7,350| & 8,000 & 320 0 0 0 0 0 0 0 0
Hit EXD 350 0 400 140,000 400 140,000 400 140,000 400 140,000 ol 1,600 560,000
K BEZITA 350 0 400 140,000 0 400 140,000 0 400 140,000] 1,200 420,000
[0) A 350 0 0 400 140,000 400 140,000 400 140,000 o] 1,200 420,000
K 7 L7 AACKET — 650 217,000 1,600 536,000 1,600 536,000 1,600 543,000 1,600 536,000 1,600 524,000]  8,650i 2,897,000
kBt BN LB /48 250 0 400 100,000 400 100,000 600 150,000 200 50,000 100 25,000] 1,700 425,000
2 | Kk |38 A *< 4,350 #& 3,000| & 250 0 250 62,500 200 50,000 0 0 400 100,000 450 112,500] 1,300 325,000
Bikar — 0 0 650 162,500 600 150,000 600 150,000 600 150,000 550 137,6500] 3,000 750,000
3 AN AR~ 320g/7H R 1| & 3,100 7 21,700 7 21,700 7 21,700 7 21,700 7 21,700 7 21,700 42 130,200
4 IV Y Y 125ml/ A 0] A& MES 220 14 9,680 14 9,680 14 9,630 44 9,630 44 9,630 44 9,630 264 58,080
5 BIOBLK TEPEETE K 20/ K 6,168] A 3,150 & 200 0 0 0 0 o 1,150 230,000 1,000 200,000 1,000 200,000 3,150 630,000
6 Efi INYEN 3 1,670 k& 1,670] 1 6,160 0 0 0 0 0 0 0 0
7 =k 7L %> (910 X2000) i 27| #%& 50| 1 24,000 18 432,000 0 0 0 0 5 120,000 23 552,000
8 B3 ELS fif2-10"C~-15"C K 0] #% 10] #% 5,000 10 50,000|| 0 0 0 0 0 10 50,000
9 AP KR 28K /48 40 48 50| & 350 10 3,500 0 0 0 0 0 10 3,500
10 el 240ml I 30| & 30 @ 800 ol 0 0 0 0 0 0 0
% T T i) B E— ol 0 0 0 0 0 B :
sl e M 2 58K /4% " )
1 jf WBLHENR) T B8/ 40 20 & 1,750 0l 0 0 0 0 0 0 0
I (FLINYE) aF 87| 48 87| & — 0 oll 0 0 0 0 0 0 0 0 0 0 0 0
12| ™ [#EBeo (KA) TV—HAX 18K/ %% 17] 4% 40| & 2,000 23 46,000|| 0 0 0 0 0 23 16,000
13] "™ [fiZr1v R—FT )L ] 12| f& 12 27,500 ol 0 0 0 0 0 0 0
14 AL B Lk Il RE 1,000 150] 1,000 150,000|| 0 0 0 0 o] 1,000 150,000
15 AL Rl R— 60mEEXL 7L o—jl 0l m— 416 o— 60 420 25,200]| 0 0 0 0 0 120 25,200
16 T A AT AT kAT 5047 /% 200] % 200] %8 600 ol 0 0 0 0 0 0 0
17 ~N— N REX 1500%G% A 5 o % 5| & 75,500 ol 0 0 0 0 5 377,500 5 377,500
18 A L¥A X 30F A /1A 300] {® 300 570 oH 0 0 0 0 0 0 0
P 6 ) X 6tvF b 32| . 32| Tk 253,000 0 0 0 0 0 0 0 0
- RIEEDY (RS2 LA X LEok Yok 72] ©F A 22.770 0l 0 0 0 0 0 0 0
70 Py TAJH (2m X 2m) ok EET e 38,500 ol 10 385,000 0 0 0 0 10 385,000
2 ) (2m X 4m) ok 0 vk HER 41,800 ol 5 209,000 0 0 0 0 5 209,000
21 g7 b (ENE) 2 AH ok E 26| Tyt 32,780 0|l 0 16 524,480 0 0 0 16 524,430
22 ENHTE 3.6m X 5.4m ik AER ARE 286,550 OH 0 0 0 0 0 0 0
- R [FER = 20 20 & 260,000 0 0 0 0 0 0 0 0
23 AL hAL G ER R i H ks 1 & 380,000 0|l 0 0 0 0 0 0 0
24 FSZAALV (B /IMEH] = 6] J& 6| & 64,900 0|l 0 0 0 0 0 0 0
25 AIMAN—F BB 76.30 5 2] & 26 & 25,000 ol 0 0 0 0 0 0 0
26 R 4. 285 (F074.20) 5 kS 5] & 228,800 ol 0 0 1 228,800 0 0 1 228,800
27 BV T 2007E i 0| & 5 & 8,500 0|l 0 0 5 42,500 0 0 5 42,500
28 HIY G5 1075 0 26 0 26| o0 1,080 oll 0 0 0 0 0 0 0
29 ST a5 1045 0 96] o 104] o 1,020 ol 0 0 3 8,160 0 0 3 8,160
30 a—RJ—/L 20mR T A I ARE 13| @ 13,000 ol 0 0 11 143,000 0 0 11 143,000
31 R Y — fi7 8.300kg 5 ol & 2l & 145,200 ol 0 0 0 0 0 0 0
32|  [HAE ARy T v 5 o & 5 & 15,125 ol 0 5 75,625 0 0 0 5 75,625
33| B [BErE 60W LED = 2| & 10] & 57,200 0 0 0 0 3 457,600 0 3 457,600
34 El e TSR ER] 5 4 & 5 & 92,400 0 0 1 92,400 0 0 0 1 92,400
35 | # (@G An—7 it far E300kg = 1] & 5| & 13,760 0 0 4 55,040 0 0 0 4 55,040
36 V% Fl[LFEIAT 1 16] & 26| f& 5,000 0 10 50,000 0 0 0 0 10 50,000
3| M [FFrr—r— G A B 10] & 10l & 18,260 0 0 0 0 0 0 0 0
38 Tt R T EAGRE 5 3| & 3[ & 6,215 0 0 0 0 0 0 0 0
39 ert =  EON: b 36] Tyt 36| &yt 80,300 0 0 0 0 0 0 0 0
40 i e 5 B M i ] 5 1A 5] & 22,000 0 0 0 0 0 0 0 0
41 FUH 300 —Av ] 14| & 26| f& 1,550 0 0 0 12 18,600 0 0 12 18,600
42 R B FAL I 15 f& 26| f& 2,420 0 0 0 11 26,620 0 0 11 26,620
43 Tevhaom 104, lkw 5 6| & 26] & 3,800 0 0 0 20 76,000 0 0 20 76,000
44 Hoo o 1111000w 5 4| & 13| & 6,530 0 0 0 9 58,770 0 0 9 58,770
45 b H AR AT 250g/ 30| 15 104] & 350 0 0 0 74 25,900 0 0 74 25,900
16 BEAVE 30/H Tl ARE 13| @ 10,220 0 9 91,980 0 0 0 0 9 91,980
47 N R~ AT Bz ] 9| (& o] & 18,200 0 0 0 0 0 0 0 0
48 KA~ - B 1400/ % 5 1l & 3| & 39,213 0 0 0 0 0 2 78,426 2 78,426
49 FANE~ WY 405008/ 4% 100K /7 3| & 3| & 14,850 0 0 0 0 0 0 0 0
50 A 20/ {8 5| fE 5] & 2,500 0 0 0 0 0 0 0 0
51 T % 650] 4% 650 4% 23 0 0 0 0 0 0 0 0
52 s 1008 S 2,000] 48 2,000 4§ 600 0 0 0 0 0 0 0 0
53 FERE R (AR 2T 7 s E 30] fE 422 @ 6,500 12 78,000 0 0 0 0 0 12 78,000
54 K= RBh T H. Fr/ )= N/e—TgE = IES 1| = | 1,000,000 1 500,000 1 100,000 1 100,000 0 1 200,000 1 100,000 1: 1,000,000
55 BattahBx [ ot ARl f 4] { 4| 18 1,400
56 | € [BlEEEX R Kat ez Tyb 10] yh Y 12,320
57 | @ [PEHELESrE Vav s il ARE 4| 5,000
58 | ft [~ AL i 13| fA 13] A 3,190
59 ro—~ 20m . 3| H 3] =® 1,980
& 7t 1,533,080 1,565,860 1,564,925 1,587,730 1,574,980 1,568,806 9,395,381




